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Devendra Jhajharia, who was elected as President,
Paralympic Committee of India for 2024-28 is
related to the sport of:

Choose the most appropriate answer from the
options given below:

(A) Discus Throw (B) Javelin Throw

(C) High Jump (D) Long Jump

(E)  Question not attempted

A T YeiUeh i 2024-28 T Afufd & Teae
Toe5 AT Fohdl T § THTg 22

frfaRad fospeat @ & @afiere 3ug ST
(A) T (B)  IToAT ek

(€) s (D) Tt s

(E) orpaiaug

How many seats were won by the leading political
party in Rajasthan Assembly elections held in
20232

Choose the most appropriate answer from the

options given below.

2023 H TSTE forerret =ma # 7ot Teiifash
T g forat €t Sfieft i

frfafaa faeredt o & @aifaes 3ag® ST IA:
(A) 129 (B) 108

C) 114 (D) 135

(E)  Question not attempted / H@ﬁﬁﬁ Iq

In how many phases was the election of the
Rajasthan Legislative Assembly 2023 held?

Choose the most appropriate answer from the

options given below.

TSTET fererrrearT o fort =m 2023 fopa =romt &
AR foh T2

Freferfan frped § & warifire Suw ST
(A) 01
(B) 02
(C) 04
(D) 03

(E)  Question not attempted / H@ﬁﬁﬁ Iq

JKL-Z10] |

Name the Saka Kshatrapas who controlled the
popular tourist destinations of Pushkar?

Choose the most appropriate answer from the
options given below:

(A) Rudradamanl (B) Yashodaman I

(C) Nahapana (D) Rudra Simha III
(E)  Question not attempted

I I GAT FH AW TR SR TR AT
R woe sl TRif foram?
frfafad foepeat 7 @ waffae sag® S0 TH:
(A) wEEEAI (B) INEEAI

(C) ATEUHT (D)  ®ZTEFRT I

(E) rgaid o

Where is the Mehrangarh fort situated in
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jodhpur (B) Jaisalmer

(C) Jalore (D) Jhalawar

(E)  Question not attempted

TSEAT H HETTE foretT ol feord 22
et farshedt § & wratfires 379w S
(A) STER (B) ST

(C) SR (D) HTAETS

(E) I g

The Junagarh fort is situated in which city of
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jaipur (B) Kota
(C) Barmer (D) Bikaner
(E)  Question not attempted
TSTET o Tohdl STE0 H TG fohett fera 82
frefeTRad fospeat @ & aafieres Iag Sa T
(A) SR (B) Rl
(C) sme (D) i
(E) 3Igdia g4
[ Contd...



Mention the date on which the Princely State of
Bikaner formally integrated into the United State
of Rajasthan?

Choose the most appropriate answer from the

options given below:
(A) 7™ April 1949
(B) 8™ April 1946
(C) 7! April 1948
(D) 8t April 1948
(E)  Question not attempted

39 T4t w1 == HIfVT S srHT ol IS
3T ®Y ¥ HIH TSTEAM TR  |Aferd &
T

frfeRad fospedt # & wafiere Iug ST

(A) 7 3TI 1949
(B) 8 37U 1946
(C) 73T 1948
(D) 8 37T 1948
(E) 3rgaid o

Which of the following dam projects is not
situated in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Sidhmukh Dam Project

(B) Meja Dam Project

(C) Jawai Dam Project

(D) Damodar Valley Project

(E)  Question not attempted

ffafed & @ wF-E st gfEisHT TeeE §
feore 2t 22

frfeRad foskeat # & watiere Iug ST
(A) Trgwm sty i@

(B) ST ST GRS

(C) s siter afeEsT

(D) IR =t afEsT

(E) Srfaiays

JKL-Z10] |
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Where is Panchana dam situated in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Bikaner

(B) Karauli

(C) Kota

(D) Sikar

(E)  Question not attempted
T ST TSTET | hal feurd 22
Freifeifia frepedt & & waifores suge o0
(A) R

(B) et

(C) ler

(D) Hi

(E) rgaid 9

Arrange the following districts of Rajasthan in
descending order according to population density
in 2011 census?

a. Bharatpur

b. Jaipur
c. Ajmer
d. Alwar

TSTEA & feteriad Sttt s6r 2011 3T ST o
HTYR W SEEAT g & STER 3Faer A |
Fraferd Sifs

a. HidYl
b. SAR

c. I
d. A

Choose the most appropriate answer from the

options given below:

e fo T foreredt & @ waiferes SUg I A
(A) b,a,c,d
(B) b,d,a,c
(C) b,a,d,c
(D) a,b,c,d
(E)  Question not attempted / 31@?!'&?[ a4
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The oxygenated blood is transported from heart
to various organs of our body through-

Choose the most appropriate answer from the
options given below:

(A) Arteries

(B) Veins
(C) Both arteries and veins
(D)  Lymph

(E)  Question not attempted
SIS o) 8BS § IO o foI T S o fofeh
SIS RIS

Freiferfiaa firpedt 3 & raifores suge o0 4
(A) emt=T

B) fImen

(C) emtar SR Rwrsl 3t

(D)  foree e

(E) Srgaiaug

Which of the following are the parts of human

male reproductive system?

a. Uterus

b. Urethra

c. Prostate gland

d. Fallopian tubes

e. Vas deferens

Choose the most appropriate answer from the

options given below:

(A) a,bandeonly (B)

(C) b,candeonly (D)

(E)  Question not attempted

frferRaa & & 8T 71HE T IS T AT 82
TR

a, ¢ and d only

b and e only

a.

b. AT ()

c. WUy

d. feaanfeam

€. W

et foq T forshedt 7 @ waifaes 3uge SO I:
(A) Hdcda,b3Me (B) ohada,c3d
(C) aab,c3Me (D) Hadb3Ne

(E) Srgaiaug

JKL-Z10] |

13

14

Air rushes into the lungs of a human being during

Choose the most appropriate answer from the
options given below:

(A) Inhalation

(B) Exhalation

(C) Both inhalation and exhalation

(D) Neither inhalation nor exhalation

(E)  Question not attempted

T AT | o 3R a1 FS H ST 8
frfaRaa fosredt # @ @aifae 3ugw ut I1:
(A) HAd:gEd

(B) fe-ged

(C) 3T iq: 48 3N afg: 48
(D) T 3 g 3R A & i geT
(E) I g

Which of the following is true about CARI-
SONALI?

Choose the most appropriate answer from the

options given below:

(A) Dual Purpose Chicken

(B) Commercial Broiler Chicken

(C) Commercially White egg laying chicken
(D) Commercially Brown egg laying chicken
(E)  Question not attempted

frafeafaa o @ &8 - Tt (CARI-SONALI) &
R H SR W 22

Friferfa et & watfi sages 3
(A) ST 3ee ATt ekt

(B)  afurfsares sitaer feehT

(C) TSk Hhe 37T & ot forehet

(D) iR ot ster 3 amet for

(E) 3rgaid 9
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Mastitis disease is found in which combination of
following herd/flock?

Choose the most appropriate answer from the
options given below:

(A) Cattle including buffaloes

(B) Sheep and goat

(C) Pigand Goat

(D) Sheep and fowl

(E)  Question not attempted
Trfetiae 5 & fore 3w () & erte (Afefew) T
T ST 22

frfafaa faeredt o & @aifae 3ug® ST IA:
(A) ST o |rer waEft (7T

(B) ¥ IR TH

(C) YW IR R

(D) g AR

(E) Igaid o=

Name of the first cloned sheep was
Choose the most appropriate answer from the
options given below:

(A) Rosie (B) Molly

(C) Dolly (D) Poly

(E)  Question not attempted

T UBA FAI ohl TS TS T ATH oAT:

frfaRad foskeat @ & @afiere 3ug ST
(A) TSt (B) Tt

(C) et (D) it

(E) orfaiaug

Granular white ghee obtained from buffalo is due

to the feeding of cakes.

Choose the most appropriate answer from the

options given below:

(A) Cotton seed (B)

(C) Linseed (D)

(E)  Question not attempted

49 % 39 ¥ Ths qMeR Hft W F & fw 3%
1 et fges s )

frfafad faeredt 4 & @aifaes 3ag® ST IA:

(A) FAEHSS  (B) @l

(C) 3T (D)  HThedt

(E) Srfaiayy

Mustard
Groundnut
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In which year was the Jaipur Praja Mandal
formed?

Choose the most appropriate answer from the
options given below:

fopet ol 3 SRITL SISIT et o1 13 g3

et fow e forepedt & weard 3ugw SO |
(A) 1931 (B) 1932
(€) 1933 (D) 1934

(E)  Question not attempted / 3T )

When was Maharana Pratap crowned as king?
Choose the most appropriate answer from the
options given below:

(A) 28" February 1572

(B) 28" February 1573

(C) 28" February 1574

(D) 28" February 1575

(E)  Question not attempted

HERIUNT 1T 3 TSI o &9 § TSITE ohel GHTAT?
frfaiaa foredt # @ @aifae 3ugw ot I1:
(A) 28 ®El 1572

(B) 28 %l 1573

(C) 28 ®all 1574

(D) 28 ®LEI 1575

(E) raid 9

Name the famous form of Rajasthan folk theatre.

Choose the most appropriate answer from the

options given below:

(A) Dashavtar (B) Jatra
(C) Swang (D) Bhawai
(E)  Question not attempted

TSTEAT o T Aok TTHS T ATH Sq18U)

frfaRaa foeredt # @ waifae 3ugw 3t I1:
(A) SMMEAR (B) SIET
(C) @ (D) ¥aTg
(E) I g
[ Contd...
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In how many main groups has Dr. Grierson
divided the Rajasthani dialects?

Choose the most appropriate answer from the
options given below:

<. e 3 ottt shferi 1 e e e &
[EEISCACR IR

i faw T foreredt & @ @aw IUgT S |
A) 2 (B) 3
© 4 D 5

(E)  Question not attempted / ﬂ@ﬁﬁﬁ B

From which “Apabhramsa” language, did the
Rajasthani language not evolve?

Choose the most appropriate answer from the
options given below:

(A) Shaurseni Apabhramsa

(B) Nagar Apabhramsa

(C) Marugujari Apabhramsa

(D) Magadhi Apabhramsa

(E)  Question not attempted
TSt 7T ot foreRm forer <arayfer e & e
TR

frefeiad fospedt 4 & afieres 3ug ST
(A) TIRETI@EY (B) AR 319UI;

(C) W& TS STHT (D) AT 3TT¥T

(E) 3Tl o1

The poetic text which describes the greatness of a
king, his conquests, wars and valour is called:
Choose the most appropriate answer from the
options given below:

(A) Veli (B)
(C) Raso (D)
(E)  Question not attempted

IT T T, ST ToRET TSI T HETT, IHeh! forsa,
T, ST AT BT U BT &, FEeT 2
frfafaa faeredt 4 & @aifaes 3ag® ST IA:
(A) It B) fame

(C) T (D) YFH

(E) 3rgaid 9

Vigat

Prakas

JKL-Z10] |

24

25

Which of the following departments has imposed

a ban on the manufacture, import, stocking, sale

and use of plastic carry bags in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Rajasthan State Pollution Control Board

(B) Education department

(C) Tourism department

(D) Information and public relations
department

(E)  Question not attempted

fafafad 0 @ e ¥ forg fowmr 3 wnfies
Sferat o fmtor, st vero, fashr 3t SuamT 9T
yfersier o fem 22

frfafad foereat 7 @ watfae 3agw® SR T
(A)  TSTEAT SeT FgoT fefsor sirg

(B)  favear farmr

(C) v faamr

(D)  F=T TE SHEFTeh formT

(E) 3t g

Which of the following villages of Rajasthan is
“Best Tourism Villages

Competition-2024” in  the

winner of the
category  of
‘Community Based Tourism’ by the Ministry of
Tourism Government of India?

Choose the most appropriate answer from the
options given below:

(A) Deomali (B)
(C) Kumbhalgarh (D)
(E)  Question not attempted

TSR T FAfAfad J & S 91 17 9Ra TR
o Qe WA T R AT e s 2oft
T gI9g e e frRfir-2024° 6 fasrar 22

Kuchaman

Ranakpur

frefeTRad fospeat & & aafieres Iag Sa T
(A) <TuTet (B) =M
(C) FFITTE (D) TR
(E) I g
[ Contd...
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The main objective of “Heal in Rajasthan” is:
Choose the most appropriate answer from the
options given below:

(A) To recover Rajasthan tourism from the
losses during Corona period.

(B) To establish hubs for medical tourism,
catering to both domestic and international
tourists for secondary, tertiary and
quarternary care procedures.

(C) To promote Rajasthan folk festival at
international level.

(D) A scheme for large scale afforestation in
Rajasthan.

(E)  Question not attempted

et 37 e if 1 e e A2

frfafaa faeredt o & waifas Iag® ST IA:

(A) AT e F B A R e
ST

(B) U qu Sfisi wieant o fordr afeesrar
THien ] fdia, qate qoT e 3T=
TSt foramat o forr &t ot forhma)

(C) TSN & olieh Scddl i ST TR W
FTaT 1l

(D) TSI H o€ TR 9T WERIUoT/a-tenor &t
Tk I

(E) 3Tl =1

The “Trinetra Ganesh Ji” Temple of Rajasthan is
located in:-

Choose the most appropriate answer from the
options give below.

(A) Jaisalmer Fort (B)
(C) Bhangarh Fort (D)
(E)  Question not attempted

TS o Pt Torer i wfew et feaa 29

Ranthambore Fort
Kumbhalgarh Fort

frfafeaa faeredt § & @aifaes 39g® ST IA:
(A) SO fRar  (B) TR e
(C) wHTgfheT (D) FHWETg feheTt
(E) Srgaiaug
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Which city of Rajasthan was nominated (as on
September, 2024) for Wetland City Accreditation
(WCA)?

Choose the most appropriate answer from the
options given below:

(A) Jaipur (B)
(C) Udaipur (D)
(E)  Question not attempted

frefaRad # € TS &1 -1 et decie &
Tfshfed (WCA) = A1fHa (fodsr 2024 @ %

Jodhpur

Jaisalmer

STIER) fopar re 22

frfaiaa fosredt # @ @aifae 3ugw 3t 91:
(A) AR (B) SR

(C) 3L (D) AR

(E) raid 9

In which year did India’s Prime Minister launch
the 5G services?

Choose the most appropriate answer from the
options given below:

(A) 2019 (B) 2020

(C) 2021 (D) 2022

(E)  Question not attempted

TR o ST o FoRe a9 H 5G HaTAl o1 WA
foram?

frefetRad fospedt # & aafieres Iag Sa T
(A) 2019% (B) 2020

(C) 2021 (D) 20227

(E) rgaid 9

‘Asop forest block” in Shahpura, Rajasthan is
developed as aconservationreserve for
Choose the most appropriate answer from the

options given below:

(A) Camel (B) Black Buck

(C) Peacock (D) Tiger

(E)  Question not attempted

“THIT HIES 5cTeh” TR, TSR H &

LT fiord (Shetay fid) & &9 8 foesfa foam
TR

frfafad fasreat # @ watfae 3agw® SR T
A) I (B) o o
(©) Hr (D) &M (W)
(E) g gy
[ Contd...
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Which of the following are the main causes of
deforestation ?

a. Building houses and factories

b. Using land for cultivation

c. Conservation of wildlife

d. Making furniture

e. To improve soil quality

Choose the most appropriate answer from the
options given below:

(A) a,bandconly (B)
(C) a,bandeonly (D)
(E)  Question not attempted

frfaRad & & IHIFIE & HH-HH-H T&T HRO

b, c and d only
a, b and d only

a. TR TN HI@HET ot fmfor
b. @t o forw s 1 T
c. TSN T HLEI
d. R s % foe

T3 3T TUTET § PR % g
qﬁ%%qm%wﬁﬁwaﬁ\wmwaﬁ
(A) HaeTa,b3Wc (B) Haadb, c3d
(C) @acla,b3e (D) ohacta, b3 d
(E) orpaiaug

Which of the following is an artificial setting for
protection of wild animals?

Choose the most appropriate answer from the
options given below:

(A) National Park

(B) Biosphere Reserve

(C) Zoo

(D) Wildlife Sanctuary

(E)  Question not attempted

TSt o W & fog frefafad 3 @ -
i

freferfiaa foreredt # & wraffére 3ugw Sa I
(A) T aH

(B) S REhRR fiwd

) fafeamr

(D) TSIE IIRTT

(E) Srfaiays
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36

If 8x% — 24xy + 18y? = 0, then the ratio x : y is:
?Jﬁ8x2—24xy+ 18y? = 0, x .'yEFf?ﬂT\-l:tI'IT‘T%:
(A) 2:3 B) 3:2

© 4:9 D) 9:4

(E)  Question not attempted / 31':1)?\'?’\?[ 949

The ratio of present ages of x’and ‘y’is 3 : 2. Six
years ago the ratio of their ages was 5 : 3. The
sum of their present ages is:

%’ 3Ry I A SR T ST 3 2 2 31D
el 3FhT AT T ST 5 : 3 AT 37T FqH 31T
T AT 2

(A) 50 B) 55

(©) 60 (D) 75

(E)  Question not attempted / 34@?1'&?[ 99

If % of x= % of y, then by what percentage x is

more than y?

Ifg x =l %=y Eal %,Fﬁx,yaﬁﬁm‘ﬂﬁﬁlﬁ
3feren 2

A) 10% B) 20%

©) 15% D) 25%

(E)  Question not attempted / 34@?1'&?[ 99

Who is the goalkeeper for team ‘Hockey
Rajasthan’ for 14™ Hockey India Junior Men’s
National Championship 2024?

Choose the most appropriate answer from the
options given below.

(A) Himanshu Kumar Sharma

(B) Lovish
(C) Anurag Suthar
(D) Meraj

(E)  Question not attempted

141 TRl STeAT SRR 89 TSR < RTRTT 2024 5
I EThT TSTEATT o AT i 27
frfafad fasreat # @ waffae Iagw® S0 TH:
(A) ety st

(B) ifersr

(C) ST HAR

(D) WS

(E) 3Idia g
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What was the ranking of India in Paris Olympics
2024 Medals Tally?

Choose the most appropriate answer from the
options given below:

(A) 69th (B) 70th

C©) 718t (D) 72nd

(E)  Question not attempted

2024 UfE ST o qqeh dTfciehT § HId o T

T AT?

frfafaa faeredt o & @aifas 3ag® ST I
(A) 69af (B) 704t

(C) 71af (D) 7274t

(E) 3Tl o=

Milk sugar is called:

Choose the most appropriate answer from the
options given below:

(A) Maltose (B) Lactose

(C) Fructose (D)  Sucrose

(E)  Question not attempted

ereiferfia fashed i & warifores Suge 0 3,
(A) HIE| (B) RIS

(C) WIS (D) THE

(E) raid 94

Match List-I with List-I1:

List-1 List-11

a. QGujjar Bakarwals [. Maharashtra

b. Gaddi II.  Jammu and Kashmir
c. Raikas III. Himachal Pradesh
d. Dhangars IV. Rajasthan

HAT-1 3 |1 Gil-11 T e hiTT;

Heit-1 Heit-11

a. TSSREHRET I HERIY

b. T IL <P AR TR

c. TFH 1. femreret wewr

d. 9T IV. USE=

Choose the most appropriate answer from the
options given below:

et faw T forshedt 7 @ warfferes 3uge 3 |
(A) a-I,b-ILc-I,d-1IV

(B) a-ILb-MLc-IV,d-I

(©) a-ILb-Ic-IV,d-1I

(D) a-IILb-1V,c-1,d-1I

(E)  Question not attempted / H@ﬁﬁﬁ Iq

JKL-Z10] |
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Maru Raikas settlements are called:
Choose the most appropriate answer from the
options given below:

(A) Igloo (B) Bhabar

(C) Dhandi (D) Basti

(E)  Question not attempted

e Tk 3 AT T e 2:

frfaRad foeredt # @ waifae 3ugw at 91
A) T (B) e

(€) it (D) =t

(E) gaid 9

From the following physical regions of Rajasthan,
which region shares its boundary with Pakistan?
Choose the most appropriate answer from the
options given below:

(A) South Eastern Plateau Region

(B) Aravalli Region

(C) Eastern plain Region

(D) Western Desert Plain Region

(E)  Question not attempted

TSR o Fefafaa Hifae (Shfaen) &= & 9
HI-TT & UTTREAT o BT ST T HT 7T ShidT 22
frfaiaa foredt # @ @aifare 3ugw 3ot I1:
(A) aferor goff 9or &

(B) 3Wael &

(C) v AeHT &=

(D) ufsy e e &

(E) I g

Which of the following regions does not receive
irrigation water from the Jakham dam project of
Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Chittorgarh (B)
(C) Bikaner (D)
(E)  Question not attempted

frefafad & TS A1 BT & STEH ate
TRETSHT & =TS STt STH & il 22

frfafad fosreat 7 @ waffae 3agw® IR T
(A) TeTg (B) 3R

(©) i (D) STTE

(E) I g

Udaipur
Pratapgarh

[ Contd...
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Who among the following presented the Annual
Budget, for the Government of Rajasthan in July,
20247

Choose the most appropriate answer from the
options given below:

(A) Shri Kirodi Lal Meena

(B) Shri Prem Chand Bairwa

©
(D)
(E)  Question not attempted

T o @ fore ST 2024 § USRI WHR H
TN SIS T fohaT?

frfafiaa faeredt o & @aifae 3ug® ST IA:
(A)  off foruet et Hom

(B) off Y9 =g S

(C) et foam ATl

(D) it Toiex fig Raawr (Rewew)

(E) a9

Smt. Diya Kumari
Shri Gajendra Singh Khinwsar (Khimsar)

According to the modified budget 2024-25 of
Rajasthan, what amount in Rupees goes towards
interest payment?

Choose the most appropriate answer from the
options given below.

(A) T10.92

B) %772

(C) T892

(D) 20.07

(E)
TSTET o AT Sofe 2024-25 o STTE ST hl
Tt  fohaT ®9a ST 82

Friferfia fashed i & warifires suge 0 33,
(A) T10.92

B) %772

(C©) T892

(D) T 0.07

(E) Srfaiays

Question not attempted

JKL-Z10] |
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46

47

48

Which of the following state has been paired with
Rajasthan under the “Ek Bharat Shreshta Bharat”
scheme of government of India?

Choose the most appropriate answer from the
options given below.

(A)
©
(E)
I TLhN & HIAHA “Teh YRA I8 WRA” o ded
1 5 O TS T SISIER US9 H 97 82

i fow e forehedt & & wa@ SUg ST

(A) TR (B) TATHT

(C) 3um (D) wREE

(E) 3Igdia g4

Manipur (B)
(D)

Question not attempted

Telangana

Assam Jharkhand

The average of first 11 multiples of 13 is:
13 3 o 11 TSI 36T 116 &

(A) 76 B) 78

© 77 D) 91

(E)  Question not attempted / 31@?!‘&?[ 949

The average runs scored by a batsman in 9 innings
is 55. How many runs he should score in 10th
innings so that his scored

average runs

become 65?

Teh SociaTS 510 9 TRt § 37ed 55 W SH™T ST
21 103 Tt o g ford T ST foF 38k T o7 37tera
65 & ST

(A) 155 (B) 160
(C) 145 (D) 165
(E)  Question not attempted / T )

L.CMof2.4,0.36 and 1.08 is:
2.4,0. 36 3 1.08 T AT FATIAI o

(A) 036 (B) 2592
(©) 1038 (D) 21.6
(E)  Question not attempted / 3133?!'&?[ 99
[ Contd...
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Who amongst the following Rajasthani women
players got the Arjuna Award in 2023?
Choose the most appropriate answer from the

options given below:

(A) Bhawani Singh

(B) Divyakriti Singh

(C) Mohana Singh

(D)  Avni Singh Rathore

(E)  Question not attempted

frfeRaa st wfee Raatedt & & a9 2023
4 foper 3Tl qrEeRR ST fopam?

ettt frhed & & wratfires 379w S
(A) vt fg

(B) feorsfafs

(C) e e

(D) et Rig Tl

(E) i yy

Who is the Science and Technology Minister of
State (independent charge) in Rajasthan (as on
September, 2024)?

Choose the most appropriate answer from the

options given below:

(A) Bhupendra Yadav

(B) Sanjay Sharma

(C) Bhajan Lal Sharma
(D) Kal Raj Mishra

(E)  Question not attempted

TR § fog 37T qehrieht T wft (Fad TTR)
I (Raaweit, 2024 ) 27

frfafiaa faeredt o & @aifae 3ug® ST IA:
(A) U AT

(B) @ yml

(C) WIS AT IHT

(D) AT W

(E) 3rgaid 9

JKL-Z10] |
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52

53

Shri Janki Lal Bhand, the famous Rajasthani who
was given ‘Padma Shri’ Award in 2024 is an
artistof

Choose the most appropriate answer from the
options given below:

(A) Pottery Art

(B) Painting

(C) Bahrupiya Art

(D) Ghoomar folk dance

(E)  Question not attempted

TSR o 2t STl Tt wiie e 2024 7 o off
&R H GFATIA foraT T 6 FATHR |
frfafad fasheat % @ waifas Sug® ST I
(A) Tl (Frerh) Far

(B) Tertera (dfem)

(C) wEHAT Helr

(D) T FA

(E) 3@ g

The difference between compound interest and
simple interest on a certain sum of money for 2
years at 4% interest per annum is T 40, then the
sum of money is:

e Ffara i uw 4% anfier sarer it e @ 2 9t
T TAShHITE SATS ST TTEITOT AT HT AT 40 7, Al
IE AT =

(A) 20,000 (B) 25,000
(C©) T 15,000 (D) 18,000
(E)  Question not attempted / 317d e

A certain amount of money becomes thrice in 5
years at compound interest at a rate of 12% per
annum. In how many years it will become 9 times
of itself?

(A) 15 Years (B) 12 Years
(C) 10 Years (D) 8 Years
(E)  Question not attempted

we ffera emafir 129% vfa o sspafg s e @
5 et o o1 7T 81 STt 21 9 fora e o W A 9

T B ST
(A) 159 (B) 1234
(©) 1oad (D) gad
(E) I g
[ Contd...
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If the simple interest for 12 years be equal to 60%
of the principal, then in how many years will the

simple interest will be equal to the principal?

(A) 20 years (B) 24 years
(C) 22years (D) 18 years
(E)  Question not attempted

AT 12 ST T AT ST 36 JAU FHT 60% ¢,
ar fore ot & |TEROT A, qAUE 6 SRR &
STe?

(A) 20T (B) 24T
(C) 2298 (D) 1898
(E) 3rJaid 9

The difference between principal and simple
interest for 5 years at a rate of 6% per annum is
¥ 3500, then the principal is:

6% AT TS 3T GTH 5 T AT HTUT ST HTERT
TS T AL 3500 2, A TToH 2:

(A) T 6000 (B) 4000
(C) T 5000 (D) T 4500
(E)  Question not attempted / 33!@?”3??1 99

To see an enlarged image of the teeth, dentists
use-
Choose the most appropriate answer from the

options given below:

(A) Plane mirror

(B) Convex mirror

(C) Concave mirror

(D) Kaleidoscope

(E)  Question not attempted

i o1 Srafiia gffeier 3Em & fore gt 3 St g
SRINT fehaT STt 2-
frfeRad fospeat @ & wafiere Iug ST
(A) HHdA U
(B) 30 gUUT
(C)  3Tadet guor
(D) hATZEIERT
(E) 3rgaid 9

JKL-Z10] |
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With reference to the reflection of light, which of

the following statements are correct?

a. The light ray which strikes any surface, is
called the incident ray.

b. The incident ray and the reflected ray, both
are perpendicular to each other.

c. The angle of incidence is always equal to the

angle of reflection.

d. The angle between the normal and incident

ray is called the angle of reflection.

Choose the most appropriate answer from the

options given below:

(A) a,banddonly

(B) b,canddonly

(C) canddonly

(D) aandconly

(E)  Question not attempted

ThTST o YUTaaH o Gy 1, 1 0 | Shi9-97 e Tt
27

a. eIt ST foRtor SiY forelt @ WX 2ot § 39
Tt fohtor hed 2

b. STl feheor o qarEfda feaor, 2T Th gaL 6
Sead B &l

c.  STTUA IV HaT YL ShIVT o ST BT 2

d.  SEmT (A ST afad feRor & e o
1 G IV FHEd

et fow e foeredt & @ watfae suges o€ T4l
(A) deTa, b3 d
(B) b, ¢ 3 d
(C) A c3d
(D) aTa 3
(E) SIgdia gy
[ Contd...
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When light falls on a shiny surface its direction is
changed. This is called of light.
Choose the most appropriate answer from the

options given below:

(A) reflection (B) refraction
(C) dispersion (D) scattering
(E)  Question not attempted

Torell =TeRe T HdE TR WehTRT T ST 81 W SHehT
fam uftafda & St 81 58 wemmsT 1
FeEd &l

ffaiiaa oot # @ waifas ugw s I4:

(A)  TEdd (B) 3AUadq
(C) ufem (feausiy (D) wehivfT
(E) orfaiaud

A shopkeeper marked the price of an article
which is 20% more than its cost price. He sells
the article at a discount of 15%. What is his

percentage gain or loss?

(A) 5% gain (B) 2% gain
(C) 3% gain (D) 3% loss
(E)  Question not attempted

U R Ueh I 1 qed Sifohd Fidm & S 3ueh
I A F 20% AU 21 I8 39 a% I 15% B2
(STET) U ST T &1 SEHT AT ST BT ohT Tierwrd
T2

(A) 5% (B) 2%
(C) 3% (D) 3%@
(E) 3rgaid o

What is the principal amount which earns ¥ 2420
as compound interest for second year at a rate of

10% per annum?

10% Sfer o o1 3w & qe A o Sfa § % 2420 kAl
TS o §9 1 JTH BT &, Al JT9 1 82

(A) 20,000 (B) 18,000
(C) 24,000 (D) 22,000
(E)  Question not attempted / H@ﬁﬁﬁ Iq

JKL-Z10] |
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In financial year 2023, 179 million domestic
tourists and 1.7 million international tourists
visited Rajasthan. The contribution of the tourism
sector to the state GDP is approximately:

Choose the most appropriate answer from the

options given below:

for a 2023 W TSR 5 17.9 1S WS Tleah
17 o foreft wiesh TSTeu ST/ e & Usa
Hehel =L 3CUTE H ST AMTEH LT 8

Frmfefia frchedt & & wratfires 3ugw S0
(A) 8%

B) 10%

©) 12%

D) 15%

(E)  Question not attempted / a@ﬂﬁﬁ 949
Recently in 2024, Rajasthan’s Animal Husbandry
and Dairy Minister launched camel milk with the
brand name:-

Choose the most appropriate answer from the

options given below:

(A) Saras

(B) Nandini

(C)  Urmul

(D) Amul

(E)  Question not attempted

BT & 2024 H TSTEAT o IR[ATer Td Sl w0t grr
St o1 39 Tor sife T & STt forarm i

frfafad fosreat # @ watfas sagw S0 TH:
(A) @&
(B) dfet
(©) wHA
(D) s/HA
(E) I o
[ Contd...
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Which of the following is not correct about the
National Mission for Green India (GIM)?
Choose the most appropriate answer from the

options given below:

(A) It is one of the nine missions outlined
under the National Action Plan on Climate
Change (NAPCC).

(B) It aims at protecting, restoring and
enhancing India’s diminishing forest
cover.

(C) Itenvisages a holistic view of greening.

(D) This mission has adopted an integral cross
sectoral approach.

(E)  Question not attempted

B wra & fore aediar sifimm (Aeme fimm wr
T SfEaT (GIM) % He H hi-81 e Tcd el 22

frefeiad fospedt 4 & wafferes 3ug ST

(A) I8 AT TREH X TSR e AT o A1
g AREE (FIeM) (NAPCC) & @ T
H

(B)  SHHT 3¢ WA o BI8/Hed o &1 ohl G,
TAETOHT ST STeTa &7 2

(C) I BiTet o THT gfSenivT i Ufehe T T
H

(D) 38 v 7 % wEw i el g
JTOTET R

(E) 3rgaid o

There are 40% girls and 60% boys in a class. If
the number of boys in the class is 7 more than the
number of girls, then the number of boys in the

class is:

Tk HETH 40% TERAT I 60% Tk | AT Helr
T ARl shl UEAT Tefordl & 7 31faes B, F ohefm |

(A) 25 (B) 22
(©) 21 (D) 20
(E)  Question not attempted / ﬂ@ﬁﬁﬁ B

JKL-Z10] |

14

65

66

The average of 9 consecutive natural numbers is
‘A’, then the average of the 5 largest numbers out

of the 9 numbers is:

AR 9 JTehfdieh AT 1 3fi|d ‘A &, dF T

9 AT | ¥ 5 G It TN T 3T &
(A) A+4

(B) A+3

(C) A+2

D) A+l

(E)  Question not attempted / 3T T4

Who among the following has NEVER (as on
September, 2024) been the chief Minister of
Rajasthan?

Choose the most appropriate answer from the

options given below.

(A) Diya Kumari

(B)  Ashok Gehlot

(C) Haridev Joshi

(D)  Bhairon Singh Shekhawat

(B)  Question not attempted

= 0 @ i el oft (Fder, 2024 T % STER)
TSI o1 et et T 82

frfafad faered # & @affers sugw S0 T
(A)  feargamd

(B) 3TNk TTEeAd

(C) =fea it

(D) & f¥E SrEmEa

(E) 3Igdia g

[ Contd...
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According to the modified budget 2024-25 of
Rajasthan, how many rural households will
receive drinking water under “Jal Jeevan
Mission™?

Choose the most appropriate answer from the

options given below.

(A) 21Lac
(B) 15Lac
(C) 25Lac
(D) 27Lac
(E)  Question not attempted

TSTEA o ANERId aIste 2024-25 & TR S
e fererr” o SfarTa ferd FTeior s’ ek e & ST
T T & 22

frfeiad fospedt 4 & wafieres 3ug ST
(A) 219

(B) 5@

() 257

(D) 279

(E) a9

The Indian Wildlife (Protection) Act was
implemented in:
Choose the most appropriate answer from the

options given below:

(A) 1968

(B) 1972

(C) 1976

(D) 1981

(E)  Question not attempted

TR FISier (ETaTOT) SR ] g7 o
frfafaa faeredt # & @aifas 3ug® ST IA:
(A) 19687

(B) 19727%

(C) 1976%

(D) 19817

(E) Srfaiawd

JKL-Z10] |
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The source book which keeps a record of all the
endangered plants and animals is called:

Choose the most appropriate answer from the
options given below:

(A) Red Data Book

(B)  White Data Book

(C) Yellow Data Book

(D) Black Data Book

(E)  Question not attempted

I8 I e (HTH ) fSem et deheraw wreui
R ST T TET ST @ ST 8, FHEawd! 8
et frchedt § & et 379w S0
(A) WEETH  (B) WEELILTH

(C) IMSRITHF (D) oAk S TH

(E) I g

Which of the following rivers of Rajasthan falls

in the Gulf of Khambat?

Choose the most appropriate answer from the
options given below:

(A) Chambal (B) Mahi

(C) Banas (D) Brahmani

(E)  Question not attempted

TSI | 64 areft Frfafaa 8 @ s T
TrITA 6T Tl et 22

frfafad fosreat 7 @ waffas 3agw® SR T
(A) ==d (B) W&l

(C) ™= (D) STaf

(E) I g

Kolayat lake is situated in which of the following
places in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Udaipur (B) Bikaner
(C)  Jaipur (D) Kota
(E)  Question not attempted
TSTEAT | I S FHTCTad H el [eod 82
frfafad fashedt # @ watfae 3agw® S0 TH:
(A) IR B) T
(€) SR (D) et
(E) 3rgaid 9
[ Contd...
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In which year did Maharana Bhupal Singh ascend
the Mewar Gaddi?

Choose the most appropriate answer from the

options given below:
forer o o wERTT T 8 3 HaTe e HTedT?

frfafiaa faeredt o & @aifas 3ug® ST IA:
(A) (B)
©) D)
(E)  Question not attempted / TR T4

1930 1931

1932 1934

Deficiency of which of the following causes
cracked feet in poultry?
Choose the most appropriate answer from the

options given below:

(A) Magnesium (B) Zinc
(C) Biotin (D) Vitamin D
(E)  Question not attempted

frfafaa o @ foraehl Fft pape o W e (e
61T) T BT 22

frfeiad fospedt 4 & wafieres 3ug ST
(A) AEiRrEm B) =&

(C) s (D) faafmD

(E) 3rgaid o

For artificial insemination frozen semen is
preserved at in liquid nitrogen.
Choose the most appropriate answer from the

options given below:

b mute o for femefifoa o =1 g3 Agiem &

T Lt feram St 2
Freafeian fsbedt 8 & aarffores Sug S
(A) -104°C (B) -110°C
(C) -160°C (D) -196°C
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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As per the classification of musical instruments,
to which family does the “Ektaara” belong?
Choose the most appropriate answer from the

options given below:

(A) Tat (B)  Sushir
(C) Avnadhya (D) Ghan
(E)  Question not attempted

T IAT o I TeRTor | “Tehd i forer o0 @ eifera
27

forfefiaa feredt & & wrariferes Suge 3o o
(A) T B) ¥R

(C) 3= (D) =9

(E) rgaid o

Which of the following folk dance forms is more
popular in the Udaipur region of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Bamrasia (B) Kalbeliya
(C) Bhawai (D) Dhol Dance
(E)  Question not attempted

TSEIH % ISP &F H HA-AT Ak I 3(eh
RIESY

frefetRad fospedt @ & aafieres Iag® ST
(A) sERfEET (B) whIeSiferam

(C) warg (D) AT

(E) ¥t g

An amount of ¥ 4800 is to be distributed amongst
A, B and C in such a way that the share of A is
40% more than the share of B and the share of C
is 20% less than the share of B. The share of ‘B’
is:

% 4800 I A I A, B 3R C o o 39 TR alet
STt & o A T 91T B % 9T/ 40% 3712 & 71 C
T AT B & 20% S 2| B T AT 2:

(A) T 1500 (B) <2100
(C©) 1200 (D) T 3200
(E)  Question not attempted / 31@?!‘?(?[ T
[ Contd...



78

79

Seema invested ¥ 5000 each in two different
banks at simple interest for 2 years. The difference
between the simple interest received from these
two banks is ¥ 8. What is the difference in the rate

of interest of these two banks?

T T 3 S-S Sehl § Tk | T 5000
HTROT SATST OT 2 961 o fo1q foiarer fomam| St Sfent &

ITH HTETROT ST BT S T 8 Bl S 1M1 Sihl o 4TS

T HT S T 27
(A)  0.8%

(B) 0.08%
C)  0.4%

D) 1.2%

(E)  Question not attempted / H@ﬁﬁﬁ Iq

Approximate age of sexual maturity of a buffalo-
bull is:
Choose the most appropriate answer from the

options given below:

(A) 15 months

(B) 38 months

(C) 28 months

(D) 22 months

(E)  Question not attempted

Hie-8fg i Afireh qiuererar T STATH 317 Bt 2
Fferfiad foshedt § @ waifere Iug S I
(A) 157E9

(B) 38WEH

(C) 287EH

(D) 229EH

(E) Srgaiaug

JKL-Z10] |
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Match List-I with List-II

List-I List-II
(Trait A) (Contrasting
trait of Trait A)
a. Axial position . Yellow
of flower
b. White colour II. Terminal
of flower
c. Greencolour ofseed III. Round
d. Wrinkled shape IV. Violet
of seed
G=fl-1 o | Fl-11 3T et shifTe-
Heit-1 Tet-11
(FriwaT A) (Frorwar A
o feradia ferream)
a. TR Rafa L e
b. T T A% T L 3
c. ATHETET 0. e
d. S HEglierAm V. S

Choose the most appropriate answer from the
options given below:

et fow T forehedt & @ waffaes 3uge 3a% 74l

(A) a-IlILb-Lc-I,d-1V
B) a-ILb-I,c-1V,d-1
(C) a-ILb-IV,c-I,d-1I
(D) a-IlLb-Lc-IV,d-1I
(E)  Question not attempted / 313!3?1'?{?[ BE)

Arrange the following organs of respiratory
system of human beings in a proper sequence in
order of their occurrence:

a. Trachea b. Alveoli

c. Larynx d. Nasal cavity

e. Bronchi

frefafaa st @l wMa & geT Jonelt § 3Rt
Terfer TR &t s o S iU

a. A b. IR (Tfeaae)
c. &3 (AT d. TR

e. GG (SHTS)

Choose the most appropriate answer from the
options given below:

et fo T forehedl # @ waifare 3ugw Iat 94l
(A) a,c,d,b,e (B) d,c,a,e,b
(C) c¢,d,eb,a (D) d,a,ec,b
(E)  Question not attempted / 3133?!'&?[ 99
[ Contd...
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Which of the following are the parts of the human
excretory system?
a. Ureter b. Kidneys
c. Green glands d. Urethra

e. Urinary bladder

Choose the most appropriate answer from the

options given below:

(A) a,c,dandeonly

(B) b,c,dandeonly

(C) a,b,dandeonly

(D) a,b,candd only

(E)  Question not attempted

frfaftad o & -8 AT S O o Wi &2
a. ‘flaT%:ﬁ b. TR

c. I d. qﬁ'ﬂﬁ

e. HARM

et faw T ferepeat & & watfare Suge ST I
(A) FacT a, ¢, d 3 e

(B) FaAb, ¢, d e

(C) wacla,b,d3e

(D) dcta, b, c 3d

(E) 3rgaid 9

What is the predominant material used for men’s
clothing in Rajasthan, since times immemorial?
Choose the most appropriate answer from the

options given below:

(A) Cotton (B) Polyester

(C) Terricot (D) Silk

(E)  Question not attempted

TSTET H W= S5 § T G o o forer wehm
T I SYANT § ATT ST 82

frfafad faeredt @ & @aifas I9g® 3T IA:
(A) & (B) diferceet

(C) Zfepe (D) faon

(E) 3rgaid 9
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“Hamel” is an ornament worn by the Rajasthani
women around/on
Choose the most appropriate answer from the

options given below:

(A) Head (B) Ankles
(C) Waist (D) Neck
(E)  Question not attempted

QU TEAT SITT 2

frfafiaa faeredt @ & @aifas 3ug® ST IH:
A) f& (B) @

(C) =W (D) T

(E) rgaid o

Anaerobic bacteria digests animal waste and
produces biogas (change-A). The biogas is then
fuel (change-B).

statements pertain to these changes.

burnt as The following

Choose the most appropriate answer from the

options given below:

(A) Process-A is chemical change.

(B) Process-B is chemical change.

(C) Both process A and B are chemical
changes.

(D) None of these processes is a chemical
change.

(E)  Question not attempted

AR SaTy U] AT HT I H TR
30T L & (R A)| TR ST st S o ® 9
T ST ST € (e B)| e amerr 7 itad i o
TSI &

frfaRad fosredt # @ @aifae 3ugw 3ut 91:
(A) fRAT-A T TETf IiEd 2l
(B)  fshaT-B Ueh Tk Ufitad 2
(C) YfshaT A 3R B HT TETa ek Ui &
(D) T ¥ #5 ol YHH Th TEREHEG giEdd
& 2
(E) 3Iqdia gy
[ Contd...
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Which of the following statements are correct?

a. Physical changes are reversible and stable.

b. Chemical changes are irreversible and stable.

c. Physical changes are reversible and unstable.

d. Chemical changes are irreversible and
unstable.

Choose the most appropriate answer from the

options given below:

(A)

© D)

(E)  Question not attempted

fAfcRad & & H-8 o agl 82

a.  ¥iifce qiEde SesAvier SR e a1 &)

b. TETE Titad T-SchrAuiE 3 fer 2 7

c. iR TiE SRRV ST SRR B 2

. T qREa TR-SeRAvTE 3R AR B 8

et faq T forhedt 7 @ wariferes 3uge 3t |

(A) FHATaMb (B) Had b3

(C) HaAc3IRd (D) wHdoTaIid

(E) oFfaiaug

a and b only

(B) bandconly

c and d only a and d only

[oN

This non-metal is a good conductor of electricity-

Choose the most appropriate answer from the

options given below:

(A) Bromine

(B) Sulphur

(C) Coal

(D) Graphite

(E)  Question not attempted
8 3TTq forea o7 FaTersh &
Frerferfin fasresi & & warifores Fwaes S -
(A) s

(B) "R

(C) T

(D) UHTEE

(E) Srfaiays
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The metals that produce a sound upon striking a
hard surface are said to be

Choose the most appropriate answer from the
options given below:

(A) Malleable (B) Sonorous
(C) Ductile (D) Lustrous
(E)  Question not attempted

o 9Tq ST IR AE 0 TER H § i U= hid
&, e &:-

frfaRad fosredt # @ @aifae 3ugw 3t 91
(A)  STETqaed (B) &aTeh

(C) @& (D) =9I

(E) I g

Who was the founder of the Jat principality of
Bharatpur.

Choose the most appropriate answer from the
options given below:

(A) Churaman (B) RajaRam
(C)  Surajmal (D) Badan Singh
(E)  Question not attempted

AR o STTE RETHA o HEATIe i o7

i fow e foreedt & & wa@ SUg S I
(A) =T B) TSTUH

€) g=md (D) e fiiE

(E) 3rgaid 9

Woman saint Daya Bai was a disciple of

Choose the most appropriate answer from the
options given below:

(A) Saint Ram Charan
(B)  Saint Nirbhayankar
(C)  Saint Charan Das
(D) Saint Ram Das
(E)  Question not attempted
BRI R ICIH i fara offy
frefeTRad fospeat @ & aafieres Iag ST
(A) HITH=OT  (B) wa Ffaie
(C) "d=Is™ (D) HAHIH
(E) raid
[ Contd...
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Which of the following geographical terms is
associated with the climate of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Aamra Varsha

(B) Mavath

(C) Phoolon ki Bouchhar

(D) Kaal Vaishakh

(E)  Question not attempted

FATIRad § SHH-8T ol YTeaTae! TS shi
SaT § Heerd 2

frefetRad fospedt o & wafferes 3ug ST
(A) STEawt (B) HE3

(C) FAIHIEBR (D) A MG

(E) a9

Most of the part of Rajasthan state comes under
which of the following climate zones?

Choose the most appropriate answer from the
options given below:

(A) Equatorial climate zone
(B) Temperate climate zone
(C) Polar climate zone

(D) Tundra climate zone
(E)  Question not attempted

TSTET TS T HATRIRT 9T et o § fopet Stetary
&1 o STiT ATl 7

frfeiad fospedt o & wafferes 3ug ST
(A) HENE a8

(B)  SfdIeor STcTary &=

(C) gt oAy &

(D) ZUSTSIeraTy &

(E) 3rgaid o

Which of the following rivers is not associated
with the Inland drainage system of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Kantli (B) Mantha

(C) Kakni (D) Banas

(E)  Question not attempted
fAfaRad 5 & -6t T8 TSa™ o 3T-se ™
HYETE T U Faiferd el 22

frfeiad fospedt 4 & wafiere 3ug ST
(A) Hidel (B) HT

(C) TRt (D) A ™

(E) SFfaiaws
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Which of the following regions of Rajasthan
share their boundary with other states?

Choose the most appropriate answer from the
options given below:

(A) Nagaur (B) Pratapgarh
(C) Ajmer (D) Pali
(E)  Question not attempted

famfoarfad & Tsrem s wH-aT & 7o HeT 3=
ST o 9T G hdl 27

frfafad foereat 7 @ watfae sagw® SR T
(A) AR (B) TG

(C) 3N (D) Tt

(E) 3Idia g

Which of the following rivers is in Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Bharali (B) Tungbhadra
(C) Godawari (D) Sabarmati

(E)  Question not attempted
fafafaa & & #F-H 7 e E 22
frfaRad fosredt 7 @ waifae 3ugw It I1:
(A) v (B) qmsT

(C) TereRt (D) dTeRHdT

(E) 3 g

Which of the following statements is correct
about the red yellow soil in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) This soil is found in Bikaner and Barmer
area.

(B) This soil has enough quantity of lime and
nitrogen.

(C) It is not suitable for the farming of
groundnut and cotton.

(D) This soil is formed by the fission of granite
schist and gnesis rocks.

(E)  Question not attempted

TR | et Weft ga1 & ey 7 frefafaa 4 9
FHI-HT HIT 22

frfafad fosreat # @ waffas sagw® S0 TH:
(A) I TaT sftehMT 37T STHT &5 | ureft et 21
(B) 38 & H TTH W1 § ST 3R ATSEISH g 2
(C) I Wl qAT HUTE hl Wt & [TT IuTH
T 2t
(D) I§HaT e YTge qt 19 Il o for@ue
s R
(E) 3rgaid 9
[ Contd...
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According to the Census of 2011 which of the
following districts of Rajasthan had the highest
literacy rate?

Choose the most appropriate answer from the
options given below:

(A) Barmer (B) Kota

(C) Ajmer (D) Udaipur

(E)  Question not attempted

2011 St SFRTUMT % STTER TSTE o Frfafad §
4 forg forer o wmereaT ox waifae o2

frfeiad fospedt 4 & aafieres 3ug ST
(A) e (B) et

(C) 3R (D) IR

(E) Srfaiays

Which of'the following census years had recorded
the highest sex ratio in Rajasthan?

Choose the most appropriate answer from the
options given below:

ffafed & @ forg a9 it SFoET § TSEI |
gariters forrgaTa st fora mam?

ffafiaa oot # @ waifas 3ugw s I1:
(A) 1971 (B) 1981

(C) 2001 (D) 2011

(E)  Question not attempted / aﬂﬁﬁﬁ Iq

Which of the following statements is correct
about Salar forests in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) These forests are found in only the plain
areas.

(B) Itswood is used for making packing boxes.

(C) Itis found in Jaisalmer, Jodhpur regions of
Rajasthan.

(D) Pine is the chief tree of these forests.

(E)  Question not attempted

ffRad o & SH-81 o TS o ST a1 &

TR e

frfeRaa fospeat @ & wafiere Iug ST

(A) 3 o Srerer Brarlt ST o o )

(B) 3HhI Sishiedl T YA Ukt e s |
IERIEIGIN

(C) I8 TSTEAT o STACTH, STTEYL &1 H I STl
2l

(D) =S 3 1 o1 9@ & 2

(E) a9
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100 Which of the following Wildlife Sanctuaries is

101

102

103

situated in Rajasthan state?
Choose the most appropriate answer from the
options given below:

(A) Shant Ghati (B) Ramsagar
(C) Bandipur (D) Annamalai
(E)  Question not attempted

famfafiad & & she-ar g=sie TR TSy |
feorg &2

frfafad fosredt 7 @ watfas 3agw® S0 T
(A) ria =t (B) THETR

(C) @i (D)  3FeTs

(E) raid o

%ofz thenx:y:zis:

Qﬁxﬁﬁr%Zyaﬁri—zam ?ﬁxyz%

2 3
Ifgofx=zofy=

(A) 5:4:3 (B) 6:12:20
(C) 18:16:15 (D) 16:15:18
(E)  Question not attempted / a@ﬂﬁﬁ BE

A man buys an article at a price 20% less than its
marked price and sells it at a price 20% more than
its marked price. His profit percentage is:

e STk fordl! aq i 3iTohd 7o o 20% FH qe
TSR AT & 3T 3R qe T & 20% 31k T W

ST 3T 21 39k AT 3T JFdeTd 8

(A) 40% B) 45%

©) 35% (D) 50%

(E)  Question not attempted / ﬂﬂﬂﬁﬁ 99

Two articles are sold at the same price. On one
article the shopkeeper gained 15% and on second
article he lost 15%.

percentage gain or loss?

What was his overall

(A) No profit no loss (B) 2% % gain
©) % % loss (D) 2}7 % loss
(E)  Question not attempted

3 FEE TE qeT W o= St 8 geet 9w ®
TG 15% AT ITH LT € 3R Gad g T 15 %
BT ISTT 2| AT ST BT T et TTIwTet T &2

(A) TAWITEE  (B) 2%
© T%ER (D) 2f%ER
(E) I g
[ Contd...
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The Government of Rajasthan notifies ‘Amnesty
Scheme-2024’ for settlement of dues in-
Choose the most appropriate answer from the

options given below:

(A) Pre-GST

(B) Post-GST

(C) Future-GST

(D) State and Centre GST

(E)  Question not attempted
TISTEAT T R “THAES AISHT-2024" fohe ST
1 e &g 22

frfafiaa faeredt o & @aifae 3ug® ST IH:
(A) GSTYE &

(B)  GST o UITq &1

(C) AfT-GST &

(D) TSI T &% GST

(E) Srgaiaug

Who chaired the Apex Committee of the ‘National
Clean Air Programme’ on ‘Swach Vayu Divas’
(International Day of Clean Air for Blue Skies)
held at Jaipur in September, 2024?

Choose the most appropriate answer from the

options given below:

(A) Bhupendra Rana

(B) Bhupendra Yadav

(C) Bhupendra Rawat

(D) Bhajan Lal Sharma

(E)  Question not attempted

T a1 feaw (fiet ST & foe s 9y
Faqisdr feom) w faarr-2024 4 ST g
TSR T=e AT HTHshH” ohi T WUl ohl STETETAT
forer <1

frfafiaa faeredt o & @aifas 3ug® ST IH:
(A) ¥z

(B) U= e

(€) U= T

(D) WIS AT IET

(E) Srfaiays
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Rajasthan E-waste management policy was
formed and invoked in Rajasthan in the year

Choose the most appropriate answer from the
options given below:

TIEI 3-379f3E gewed ifq 1 @M 9 78

EREACDIRICI
frfafad fasheat # @ waifas Iugw® S0 I
(A) 2021 (B) 2022
(C) 2023 (D) 2024
(E)  Question not attempted / ?ﬂﬁﬁﬁ 99

“Goga Navami” is celebrated all over Rajasthan
in memory of:

Choose the most appropriate answer from the
options given below:

(A) Tejaji (B) Gogaji
(C) Pabuji (D) Devnarayanji
(E)  Question not attempted

QL TSTEAT | FoRErehT 18 5 T o At St
&

frfaiaa fosredt # @ @aifae 3ugw 3ut 91:
(A) SIS (B) TSt

(C) st (D) QSRS

(E) raid 9

Which of the following is not an example of a
chemical change?

Choose the most appropriate answer from the
options given below:

(A) Rusting of iron

(B) Formation of curd

(C) Crystallization

(D) Burning of magnesium ribbon
(E)  Question not attempted

Frefafaa & @ -8 TemEte giEds o Sare
T
frfafad fosreat # @ waifas Iagw® SR TH:
(A) TR H ST ST
(B) &I AT
(C) Toreectieom
(D) AifrEm o &1 SterT
(E) 3Igdia g
[ Contd...
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To prevent rusting galvanised iron pipes are

coated with:

Choose the most appropriate answer from the

options given below:
(A)
(B)
©
(D)
(E)
TRTGCIIA 3h STsRAT H IR o UTSYT i ST & S o
fore fermreft v =reré el 22

frfafaa faeredt # & @aifae 39g® ST IA:
(A)
(B)
(©)
(D)
(E)

Copper
Zinc
Manganese
Nickel

Question not attempted

ErGIcH
ik

et
EEXI

I ERIECRE]

Which of the following soil is found in western
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Mix red and black soil
(B) Alluvial soil

(C) Desert soil

(D) Red and yellow soil
(E)  Question not attempted

ffefaa # sni-eft gar e Tereer 9 urft STt
27

frfafaa foskeat @ & @aifere 3ug ST
(A) THfsra aTeT TR el gaT

(B) STeilG 7ar

(C) wREAAT HaT

(D) e SR dieft qar

(E) Srfaiays
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How many Indian states share their state boundary
with Rajasthan state?

Choose the most appropriate answer from the
options given below:

foRe TR TS TSR o |rY SToHT ST |re
A 82

frfafad fasreat 7 @ watfas 3agw® S0 T

A) 2 ® 3
© 4 D) 5

(E)  Question not attempted / ﬂgﬁﬁﬁ BE)

While doing a calculation a quantity is wrongly

multiplied by 3 instead of 3. By what
percentage the answer will differ from the actual

answer?

Teh T i 9T Ueh G&dTcHe A H TTefd! § %
3 AT 2 U &) ST | AT S Y 31
e feeT wferere fi= 2immm?

(&) 166%% B) 1775%

©)  1603% ©) 1715%

(E)  Question not attempted / T )

Ravi covered a distance of 2 km with a certain
speed. By what percentage he should increase his
speed so that the time taken by him to cover the

same distance is reduced by 25%?

o wep At e & 2 forrlt ot gt o o 81 390
7T =Tt <Rl ToheT ST sreT 3T =nfew foraer 3t

0 1 T H T W 25% HH T A2
(A 25% B)  20%
© 163% ®  33+%

(E)  Question not attempted / 31@?!‘?(?[ T
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Which famous temple of Rajasthan became
representative of the “Haveli” form of temple

architecture?

Choose the most appropriate answer from the

options given below:
(A)
(B)
©)
D)
(E)
TSTEAT T HH-9T TTHG A<, WG aTeqehell &
“EIAT” T R FFAIT ST

frfafaa faeredt @ & @aifaes I9g® ST IA:
(A) TR AR

(B) IR HRR

(C) ieTehs HETed T Afat

(D)  ATEATY T AT

(E)  3Taild o1

Nathdwara temple
Pushkar temple
Temple of Nilkanth Mahadev

Temple of Parsvanath

Question not attempted

The Goddess Kaila Devi i1s considered an

incarnation of:

Choose the most appropriate answer from the

options given below:

(A) Bhadra Kali

(B) Durga

(C) Mahalaxmi

(D) Parvati

(E)  Question not attempted

HeAT ST BT ToheTehT STadT AT TIT 27
ettt frebedt & & waffores Sugw Sw o
(A) ST SRICT

B) g

(C) waTaeHt

(D) Ut

(E) SFfaia sy
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In which famous temple of Rajasthan do we find
rats by the thousands?
Choose the most appropriate answer from the

options given below:

(A) Kaila Devi Temple

(B) Jeen Mata Temple

(C) Ma Tripur Sundari Temple
(D) Karni Mata Temple

(E)  Question not attempted

ST 3 R g wRet BT o we §
T S &2

frfaiaa fosredt # @ @aifae 3ugw ut 91
(A) et ot Afeet

(B) ST #TaT HiveT

(C) HT Praxg=d Af

(D) ot ATar At

(E) eigaiayy

Which of the following lakes is situated in
Rajasthan?

(A) Nokuchiya lake (B) Pichola lake

(C) Koleru lake (D) Lonar lake
(E)  Question not attempted

fafaRad 3 & wH-d sier Tseere o feq 22
(A) TFtsia (B) RS
(C) wio® 3T (D) AHR e
(E) I g

Which of the following National Highways
passes through Rajasthan?

(A) National Highway no - 83
(B) National Highway no - 11
(C) National Highway no - 40
(D) National Highway no - 73
(E)  Question not attempted
frafafad & @ wiF-a7 TSdT THTT TSR 9
B ST &7

(A) TSR TSHTT EE&AT - 83
(B) USH TmHT G&AT - 11
(C) TSR TSHFT TE&AT - 40
(D) TSR ST €&AT - 73
(E) 3rgaid 9

[ Contd...



119

120

Palash forest is a sub-type of which of the

following forests in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Tropical/dry deciduous forests
(B)  Sub-tropical mountains forests
(C) Mangrove forests

(D) Tropical thorn forests

(E)  Question not attempted

TSIEAT | UeATYT o a9 FHfafaa 9 8 forg ag ot
Teh 37 YRR 22

frfeRad fospedt # & wafiere Iug ST
(A)  IUTEhICSelTa/3Tseh qoTdTe o

(B) U gl

(C) Tmaad

(D) SIS T et o

(E) rJaid 9

Mendel performed his experiments of

hybridization on-
Choose the most appropriate answer from the

options given below:

(A) Albino mice

(B) Drosophila

(C) Sunflower

(D) Sweet pea

(E)  Question not attempted

e 7 319 HeRtuT o TN forer O fop 92
Frefeian fsbedi 8 & aarffires Sug S
(A) AT

(B)  gIfthel

(©

D) we (e

(E) Srfaiayy
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Which of the following are the dominant traits for
seeds of garden pea plants?
Choose the most appropriate answer from the

options given below:

(A) Green and wrinkled
(B)  Yellow and round

(C) Green and round

(D) Yellow and wrinkled
(E)  Question not attempted

frefafiad § @ -8 e 72T & dre % oS *
fore wureht S 22

frfafad fasheat # @ waifas Iugw® S0 I
(A) TSR R

(B) e IR M

(C) TOIRMA

(D) el AR glfar

(E) 3 g

Which of the following is not a law of inheritance?
Choose the most appropriate answer from the

options given below:

(A) Law of Segregation

(B) Law of Independent Assortment

(C) Law of Dwarfness

(D) Law of Dominance

(E)  Question not attempted
frfRad o & HH-81 SATaiRTeh! o 7 Tei 82
Frmaferfia frchedt § & et 3ugw s
(A) TR o FEw

(B) G HAUIE I [+

(C) = ot form

(D) wwTeraT =t fem

(E) I g
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123 In which city of Rajasthan is the “Desert Festival”
held every year?
Choose the most appropriate answer from the
options given below:
(A) Jodhpur (B) Jaisalmer
(C) Barmer (D) Pokhran
(E)  Question not attempted
e o forg ot 7 wfaad e AR
TSI foRaT ST 22
frfafead faeredt 4 & @aifaes sag® ST IH:
(A) gL (B) SHW
(C) ST (D) G
(BE) 3IJaRa g%
124 Which Rajasthan city plays host to the Camel
Festival every year?
Choose the most appropriate answer from the
options given below:
(A) Jhunjhunu (B) Sikar
(C) Bikaner (D) Jaisalmer
(E)  Question not attempted
TS T AT I Jfoay 3¢ Haredd i
STt ShLaT 87
frfeRad fospedt 4 & wafieres 3ug ST
(A) FH (B) HrR
(C) R (D) SHTH
(E) 3rgaid 9
125 The smallest 5 digit number which is exactly
divisible by 6, 7 and 8 is:
5 3Rl o e DI AT ST 6, 7 3R 8 & YUie:
foTfora Bt 2
(A) 10000 (B) 10168
(C) 10080 (D) 10056
(E)  Question not attempted / ﬂ@ﬁﬁﬁ il
126 Three numbers are in the ratio of 3:4:5 and their
L.C.M is 960, then the sum of these numbers is:
A HEATE 3:4:5 % I H & AT 3T AGAH
THTIE 960 7, AT 3 ST T AN 2
(A) 144 (B) 192
(C) 180 (D) 240
(E)  Question not attempted / ﬂ@ﬁﬁﬁ B
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129

The selling price of 10 articles is equal to cost
price of 12 articles. The percentage gain or loss in

this transaction is:

(A) 20% gain (B) 20% loss
(© 33%%loss (D) 163% loss
(E)
10 &Gl 1 forsha 7ot 12 I&q3AT % 67 7od &
T 2| 39 -3 H AT ST 811 3T Jfaerd 2
(A) (B) 20% =T

© BIwah O 16%% e

(E) I g

Question not attempted

20% v

Amit deposited ¥ 2500 each on 1% January and 1%
July of a year in a bank which offered 8%
compound interest compounded half yearly. The
interest earned by Amit at the end of the year

was:

AT ¥ IAH TR T 2500 TEAT SR TAT TEAT
TS T T ook § ST foram it 8% <shafe st
2T & 3N TS T BHTET YA T STt 1 a9 o6

3 H AT ol ITH STt sht he off-
(A) T306 (B) 300
(C) T304 (D) 308

(E)  Question not attempted / 31@?!'?{?[ Tq
Where is the ICAR National Research Centre on
Camel located in India?

Choose the most appropriate answer from the

options given below:

(A) Jaipur (B) Bikaner
(C)  Jodhpur (D) Dungarpur
(E)  Question not attempted

IR H 3T Hl T 3T T T 2 STTHEH bt gl
T fera &2

frfafad fasreat # @ waffae 3agw® SR T
(A) AT (B) feRMR

(C) g (D) RE

(E) 3rgaid 9
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130 Which of the following is not a crossbreed cattle | 133 Milk is deficient in
strain? Choose the most appropriate answer from the
Choose the most appropriate answer from the options given below:
options given below: (A) Vitamin A
(A) Sunandini (B) Karan Swiss
(B) Iron
(C) Rathi Gir (D)  Frieswal
(E)  Question not attempted (©) Vitamin B,
freaferfaa & @ -t masft s gent Tea T2 22 (D) Calcium
frefeTfaa forehedt 4 @ waifas Wwﬂ% (E)  Question not attempted
(A) gt (B) % e T &t et et 21
(©) TfR (D) ShRFETT Fr=feafad fasmeat & & waifaes sugw® ST =m:
E) @aia 5y ” N
) ¥ (A) faefmaA
131 Which of the following is known as the milk city (B) SIE (SITIL)
f India? Sorfe
OChn . th t jat from th © %
oose the most appropriate answer from the
. . (D) Ffeaaw
options given below:
(A) Anand (B) Asansol (E) > Rl
(C) Durgapur (D) Gandhinagar
(E)  Question not attempted 134 Farming that combines crop production with
frfaRaa & o fFg wra =&t RSN (ffl?eﬁ ﬁ:@) livestock raising is called:
T STl &7 Choose the most appropriate answer from the
et forshedt & & aaifers 3 K| mwaﬁ: options given below:
(A)  simie ® IS (A) Mixed farming
(©) FE (D) TR . :
(B) Dairy farming
(E) Igana g%
(C) Mosaic farming
132 Internal fertilisation does not occur in: (D) Jhoom farming
Choose the most appropriate answer from the (E)  Question not attempted
options given below: T TS T TR UTeH, ST bl Sk Bt T
(A) Cows (B) Dogs T3,
(C) Frogs (D) Hens - .
: frfafaa fashedt & & gaffees sugw ST TH:
(E)  Question not attempted 2 ©
Freaferfie 2 e st Frvert 7 8 (A) TP et (fefes i)
frfafeaa faeredt § & @aifaes 39g® ST IA: (B) <l i
(A) TEH (B) FaTH (C)  Histeh I
() e ) witd (D) FwEd
(E) IFgaia = (E)  3Igdita g
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For feeding cattle, goat and sheep, which of the
following is/are not used as fodder crop(s)?

a. Maize

b. Legumes

c. Cotton

d. Rice

e. Barley

Choose the most appropriate answer from the
options given below:

(A) aandeonly (B) banddonly

(C) conly (D) bonly

(E)  Question not attempted

fafafaa & & fora mafyr, st ofit 9ei & fog
TR o &9 H AT A foham Srr?

a. Heehl

b. wfcrar

c. U™

d. o™

e. S

et faq T forkedt 7 @ wariferes 3uge 3t |
(A) FaTadMe (B) e b 3 d

(C) Hadc (D) HaAb

(E) 3rgaild o

Which of the following statements is incorrect?
Choose the most appropriate answer from the
options given below:

(A) Almost all metals combine with oxygen to
form metal oxides.

(B) Most metal oxides are soluble in water.

(C) Metals react with water and produce a
metal oxide and hydrogen gas.

(D) Metal oxides are basic in nature.

(E)  Question not attempted

ffeiad 5 9 hi-81 " 9cd T8 82

Ffaiiaa ool # @ waifas ugw s I1:

(A) T gt e TS § “afifE
T % SATRATSS STl &

(B) SATrehat Tl o HwdTSS ot H i
&I €l

(C) 9qE S ¥ AR Fdt & R 91q &
JATFETSE AT BIESISI 119 Ica= el B

(D)  ©Tq o SATHTEE Wahfr & & &rdt )

(E) Srfaiayy
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Select the incorrect statement with reference to
metals.

Choose the most appropriate answer from the
options given below:

(A) Gallium melts when kept on a palm.

(B) Sodium is so soft that it can be cut with a
knife.

(C) Mercury is liquid at room temperature.

(D) Bromine is a very rare metal.

(E)  Question not attempted

TGl o Ha H 3 HU T =TI HITST ST HEl T
|

frfafad fasheat % @ waifas Sug® S0 I

(A) Ao el W W 9 et St 21

(B) W™ ST 7 Tl @ fehs 30 <1k & ahrer S
ThaT 2l

(C) URT (Wehil) |THI=T heT o ATIE W el
BT 2l

(D) S Tk geiw g 2

(E) ergaiayy

Concave mirrors are used in-

a. A torch

b. Side mirror of vehicles

c. Head lights of vehicles

d. Solar cookers

Choose the most appropriate answer from the
options given below:

(A) a,bandconly
(B) b,canddonly
(C) a,candd only
(D) bandconly
(E)  Question not attempted
1A GUUIT 3BT YA fohaT STl & -
a. JH
b. d@Tedt & urd (d1ge) gdur
. ATEAT o geeTRe
d. RFHH
e fa T foreredt & @ wariferes SUgT ST A
(A) HaTa, b3
(B) aab, c 3R d
(C) ohdacTa,c3d
(D) FAAb IR
(E) I g
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The singing of Rasia accompanied by the playing
of Nagada is associated with which type of

dance?

Choose the most appropriate answer from the

options given below:

(A)  Ghoomar Dance

(B) Kalbeliya Dance

(C) Terahtali Dance

(D) Bamrasia Dance

(E)  Question not attempted

TS 3 wre W T fohey et & aifera 22
frfafaa faeredt # & @aifae 39g® ST IA:
(A)  =TRTA

(B) SHTcASITerT I

(C) et T

(D) wRET I

(E) 3rgaid o

Name the first Chief Minister of the United State
of Greater Rajasthan.
Choose the most appropriate answer from the

options given below:

(A) Bhairon Singh Shekhawat
(B) Hira Lal Shastri

(C) Jai Narayan Vyas

(D) Mohanlal Sukhadia

(E)  Question not attempted

HIH Feg TSEAM JI¥ o el JErwt 1
ERIE

frfafaa faeredt o & @aifae I9g® ST IA:
(A) W f¥E SrEmad

(B) I TS T

(C) T TR AT

(D) HIETTe garrsan

(E) Srfaiays
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Which of the following physiographic features is
not found in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Aravali Mountains

(B) Thar Desert

(C) Coromandel coast

(D) Hadoti Plateaus

(E)  Question not attempted

frfaRad # -8 S-S Toe 81 9wt
STt 27

frfafad faered # & @aifers g S I
(A) STEc ydd

(B) YR HEEIA

(C) HHWvSH ac

(D) TR YR

(E) I g

Alluvial soil is found in which of the following
regions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Northern and eastern part of Rajasthan
(B) Northern and western part of Rajasthan
(C) Eastern and western part of Rajasthan
(D) Western and southern part of Rajasthan
(E)  Question not attempted

ScAlE &t TS & 0 7 9 forer &t # areft St
22
freferfaa foreredt # @ aaffére sugw Sa T

(A) TSI 3T IR SR Gl 9T
(B)  TSTEATT T It ST TfSrt 9T
(C) ST o1 Yeff S et |
(D) TISTEAT ot Ufeet 37T afeqoft s
(E) 3Iqdia g4
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143  Ghagghar plain is a sub region of which of the | 146 Match List-I with List-II:

following physiographic divisions of Rajasthan?

Choose the most appropriate answer from the List-1 (Product)  List-II (Description)

options given below: . . a. Butter milk I. By -productin

(A) Western desert plain region

(B)  Aravalli region preparation of

(C) Semi-arid dry region

(D) Eastern plains region chhena and paneer

(E)  Question not attempted

TTET T HETT TSR 3% R e BT &5 b. Skim milk II.  Soft drink made

(Q\mgﬁq?isr%‘:\ . . of whey

frfetiiaa faercdt § & @aifarss 3Ug ST I1:

(A) EECIRESRIPR e RAE] c. Whey IIl. Fat separated milk

(B) et &

(C) TSI & d. Whevit IV. Fluid obtained by

(D) et arr &t N

(E) T - churning of cream
144 Which of the following is the tallest breed of into butter

sheep in India? ;

Choose the most appropriate answer from the Hg\?:ﬁ.léﬁmﬁrgﬁ.ﬂw ST

options given below: =i

-1 (37UTE TEt-11 (feraor

(A) Nellore (B) Deccani o ) o )

(C)  Bikaneri (D) Nilgiri a. TS L SRR

(E)  Question not attempted )

forfafad # & wra # g A - T g S H 39 - 3eUTg

e - . b Remfieds L B EETE

frfafiaa faeredt o & @aifas 3ug® ST IA: : '

(A) @R (B) AT c. BFUA(R) [ IaTIRay

(C) el (D) e s

(B) rafa we d. =efae IV. 3hH T 0 oL ToRa
145 Ste.lrch adulteration in milk can be detected by T T A e

using:

Choose the most appropriate answer from the Choose the most appropriate answer from the

options given below:

(A) Todine solution (B) Bleaching powder options given below:

(C) Chalk powder (D) Sulphuric acid : S 3 i .

(E)  Question not attempted i feme T4 Uh U 3?'!'{7-:?:

AT AN ATCHGA__ HT AT H (A) a-TLb-Tc-TV,d-T

SUIRIEIK:CIR

frfeRaa fospeat @ & wafiere Iug ST (B) a-MLb-Lc-TV,d-TI

(A) AEEH A

(B) HTa HIET (ST UISer) (C) a-1V,b-IlLc-I,d-T0

© ilid D IV,b-1 IL, d - III

(D) HeHfE 3T (D) a-1V,b-Lec-I.d-

(E)  STaNd 4 (E)  Question not attempted / 3'-!33?!'&?[ 99
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Match List-I with List-II:

List-I (Disease) List-IT (Causal organism)

a. Chickenpox I.  Protozoa
b. Typhoid II. Fungi
c. Malaria I Virus

d. Ringworm  IV. Bacteria

ERISEXIPE IR IEARECIEEAIS IS
w1 (@) -1 (R )
a. Toadem I WiaNeT

b. TEERES II. %%

c. TaAtEm 1ML ooy (Sreree)
d. @@ (fomed) 1V, Sftam EifE)

Choose the most appropriate answer from the
options given below:

et foq T forehedt 7 @ waifare 3ug o I4:

(A) a-ILb-1V,c-1,d-1I
(B) a-1V,b-ILc-ILd-1I
(C) a-TLb-ILc-1IV,d-1I
(D) a-1V,b-1,c-1Id-1I
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

Select the problems which are not caused through

polythene.

a. Cause hurdle in drainage system

b. Cause of death of cattle

c. Cause diseases like asthma and jaundice

d. Allow the rain water to be absorbed in the
soil

e. Danger to fertility of soil

Choose the most appropriate answer from the

options given below:

(A) a,dandeonly (B) banddonly
(C) canddonly (D) a,candeonly
(E)  Question not attempted

3T FEATAT bl R S Tferefi= o Hor T 2 &
a. STYTE aF H STET T HROT

b. HATTT H 7T T HROT

c.  STEYHT IR diferam S AT <hT SHoT

d.  oT STel T a1 § ST & &7

e. foet et 3dtar & fore @aw

et faw T forshedt 7 @ warffares 3uge ot o:
(A) Hada,d3Me (B) Hadb N d
©) Faet ¢ 3 d (D) FacT a, ¢ 3T e
(E) Ffaia s
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Which of the following diseases cannot be
prevented by using vaccine?
Choose the most appropriate answer from the

options given below:

(A)  Small-pox

(B) Hepeatitis

(C) Scurvy

(D) Tuberculosis (T.B.)
(E)  Question not attempted

frafafaa & @ fha W &1 S g’y =g &
forar T weRar 22

frfaiad foredt 7 @ @aifae 3ugw 3ot I1:
(A) ==F

(B) TUemfem

(C) TRdt

(D) ufge (T.B.)

(E) I g

Which of the following is not a viral disease?

Choose the most appropriate answer from the

options given below:

(A)  Chicken pox

(B) Measles

(C)  Polio

(D) Typhoid

(E)  Question not attempted

et & & - e formoy (e St T e 22
frfafad fosreat # @ waifas Iugw® ST TH:
(A) o dem

(B) wHu

(C) uiferar

(D) IEARES

(E) 3Igdia g4
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SPACE FOR ROUGH WORK / T% s/ & feiq T

I AR H &1 Wi 8 - Het S S T i, ole STh o it e i U v wierel ST ek i gl
sifcrrt sftereh =t wite, wierefl o Tt wid sht 3t T2t s | siersh SR 3T T ol 7 Ui i 370 a1
ST 3R, Tl wifar ot e ifer & e < @ g R wrereT geie ster s aaeff o | | wdvereff fcd
SIfer ShT ST BT < ST |
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